Irigonometry Re view

Definitions
tan § = S0 A
cos 6 %
e 1 ___0050:._)_(_
tan 6 sin 6 %
sec 0 = = I
cos 0 ¥
csc 6= .1 = I
sin 6 »71

Addition Formulas

sin(a+,B)=sinacosB+cosasinB
sin(a—B)=sinacos,8—cosasinﬁ
cos(a+B)=cosacosB—sinasinB
cos(a—B)=cosacosB+sinasinB

Double Angle Formulas

sin 2a = 2 sin a COS &
cos 2a = cos’a — sin’ «
2
=2cos a—1

=1-2sin"a
tan 2a = 2NN, ‘a“‘;‘
1 —tan” «

Area of Triangle K = %ab sin C

Law of Sines SnA — sinB — sin C
a
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Pythagorean Formulas

sin®  + cos? 9 =1
1+ tan2 0= SCC2 0
1+cot20=cs029

tan o + tan 8
tn(a+B)=—"""7
an (a + B) 1 — tan « tan 3

_ tana—tanf
tan (& = ) = 1 + tan « tan 3

Half-Angle Formulas

e CF 1] —cosa
sm—-=i‘[—————
2 2
«a 1 + cos o
cos & = £q[———
2 2
tan & = + [1—cosa _ sin &
7 ~ Y1l+cosa 1 + cos a
_1l—-cosa
sin «
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Law of Cosines ¢> =a° + b — 2ab cos C, cos C= 55F

ci-cB E

cos C = =5—=5 (Vector form of law)

|CA| |CB]
Sectors 6 in radians 6 in degrees
Arc length s=r0 s = gi— «2mr
Area K= —;-rzf) = —;—rs K= 0.
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